Efficiency vs dr

l_......... [

0.8+

efficiency vs AR

0.6/ 1+

0.4+

—=— DQM_CKF _TTbar
1.05/H} | —— DQM_mkFit_TTbar
—— DQM_mkFit_TTbar-newTr2

Ratio

30 I 1 119101131113 115111
IR R
107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.2:
0’ 0.18F
= n
o
z 0.16:
20.14F
> o
20.12F
0.1F
0.08F
0.06F

0.04f

efticie

-1

107 1072 1
AR(TP, jet)

Efficiency vs pu

0.8p

e e e e s

A R A

efficiency vs PU

9 20 1 O
o
o
NI TR )
L T e e

Ratio
=
2 & b
TTTT ||||!|||I-II
—_—

0 40 60 80 100 120 140
Pileup



	Contents
	Page 1


